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You have an Oracle Cloud Infrastructure (OCl) load balancer distributing traffic via an evenly-weighted
round robin policy to your back-end web servers. You notice that one of your web servers is receiving
more traffic than other web servers.

How can you resolve this to make sure traffic is evenly distributed across all back-end webservers?

A. Disable cookie-based session persistence on your backend set.

B. Change keep-alive setting between the load balancer and backend server.
C. Disable SSL configuration associated with your backend set.

D. Create separate listeners for each backend web server.

Answer: D

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Balance/Concepts/balanceoverview.htm

Which two are Regional resources in Oracle Cloud Infrastructure? (Choose two.)

A. Ephemeral public IPs
B. Compartments

C. Compute images

D. Dynamic groups

E. Block volume backups

Answer: BD

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/General/Concepts/regions.htm

An Oracle Cloud Infrastructure tenancy administrator is not able to delete a user in the tenancy.
What can cause this issue?

A. User has multi-factor authentication (MFA) enabled.

B. User is member of an Identity and Access Management (IAM) group.

C. Users can be blocked but not deleted.

D. User needs to be deleted from federation Identity Provider (IdP) before deleting from IAM.

Answer: A
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You are a system administrator of your company and you are asked to manage updates and patches
across all your compute instances running Oracle Linux in Oracle Cloud Infrastructure (OCl). As part of
your task, you need to apply all the latest kernel security updates to all instances.

Which OCl service will allow you to complete this task?

A. Resource Manager
B. OS Management
C. Storage Gateway

D. Streaming
E. Registry

Answer: B
Reference: https://blogs.oracle.com/cloud-infrastructure/os-management-with-oracle-cloud-
infrastructure

Which of the following statements is true about the Oracle Cloud Infrastructure (OCl) Object Storage
serverside encryption?

A. Encryption of data encryption keys with a master encryption key is optional.

B. Customer-provided encryption keys are always stored in OCI Vault service.

C. Encryption is enabled by default and cannot be turned off.

D. Each object in a bucket is always encrypted with the same data encryption key.

Answer: B

Reference: https://docs.cloud.oracle.com/en-
us/iaas/Content/Object/Tasks/usingyourencryptionkeys.htm
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